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ECONOMICS
( General )
Paper : 6.1

( International Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
ST MR e Spies e i

(a) According to Ricardo, what is the basis of
international trade?

WWWW?‘%%’

(b) Mention one cause of unfavdurablc terms
of trade for underdeveloped countries.

wmmwmmww
Lol ,

(c) Define balance of payments.

TS CoTCTes STHeR K& |
A7/610 ( Tum Over )



2
( , ( 3 )l;

(d) Mention one invisible item of balance of

payments account. 2. Answer. the following questions : 2x5=10
WP CROGR SWeR fRoeR @bl SpTH 7S it s o o - R
R Wﬁ“f L (a) Give the meaning of current account and
: capital account in balance of payments
(e) Inwhich year was the IBRD established? account. B
IBRD (IR 5% T 02f&e ? RO @ome SeR Roree 3@ sfee fRuiet
() What is special drawing rights? oIF e ot o o o
o T | 2 ,
(b) What is the meaning of flexible exchange
(g} Write True or False : . rate? v
s e forr: - T Rt g &2
Balance of trade reflects partial picture of
international transactions of a country. | () Mention any two advantages of
AR TWelR @9 PR SIESOF (T ' international trade. ,
o 2R afewfre | | ST A R I 751 3R SeEry 1 |
() What is foreign exchange rate? @ What are the visib o
at are the visible items in balance o
Zﬁﬁf’ﬁ ﬁﬁ’ﬂ 7[ A [ ? *  payments of a country?
(i) Mention one function of foreign exchange G (PR AR O SIS 41 TN
"~ market. TR R '
: () Name two measures’ of = correcting
() What is gold standard? -disequilibrium in balance of payments.
e & ? \ T e O SRRl T R
| I BRI |

A7f610 - tinued l y
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t4) (5)

3. Answer any four of the following questions : () ' When do deficit and 'surplus in balance of
R - Sx4=20 payments arise?
et fomn R e BIRG 2s s fra G RO THOR cvge Wb WE AR
. . A Beq =W ?
(@) Explain the scope of International
Economics.
Aol ARl 4. Answer the following questions : - 10x4=40
©o1e fa PR B fia

(b) Distinguish between internal trade and

international trade. (a) Explain Ricardian theory of international

W‘IWWWWWW trade. _

12l foran | | RICER EEieT AfIET ©Eb 964 4 1
(c) What are the objectives of IMF? or/ “\WW

wrgeaE gu AR SowirR R R e

Explain the concepts of fixed and flexible
exchange rates.

(d) State the difference between balance of P S T
-trade and balance of payments. A R

memﬁ@mww

’WT"HW ferar 1 ‘ (b) What are the types and causes of
dlsequlhbnum in balance of payments?

e) “Balance of Payments is always in Explain.™ 5+5=10
balance.” Explain- AR T SO wﬁﬁmﬁ oK WE
‘W @ Tl TR e oI, 4 1 FRIER & B o =0
W_qu._ .

A7/610 ( Continued ) A7/610 ( Turn Over’)




( 6) (7))

Or / =%Al
. Or / 9%[T r/

Discuss the role of IMF (International
Monetary Fund) in economic
development of underdeveloped
countries.

S (PR ALART T SesgE yu e
SR SCe 41 |

What 1is devaluation? Under what
conditions, devaluation is effective in
restoring equilibrium in balance of
payments? 2+8=10

e [ 7 R v SRR e e
TSR CFIS ST TR SAS Fo127] W ?

% % J

(c) Discuss various types of terms of trade.

fRifew erera MK 56 R A= 3440 |
Or / 941
Discuss the factors determining the

terms of trade of a country.

@ a7 R T |
¥ wIcee ¥4 1 |

(d) Explain the role of IBRD in economic
development of a developing country.

G4 SRR (PR SRASE SRS Ao W
TR SRR (I R I |
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2017
ECONOMICS ,
( General )
.Paper 62 .

( Planning and Development in India )

Full Marks : 80

Ttme 3 hours

The ﬁgures in the margin indicate full marks
for the questions

,-Answer either in English or in Assamese.
(RS

1. Answer the following questlons : 1x10=10

wﬁmwwm

) X
{a) Ment10n one bas1c feature of Ind1an
economy.

ﬁw@@?aﬁﬂﬁWWW|

[®)

(b) Write the full form of FPL
FPI-3 ?:x"’@l ﬁr«w |

(c) What is the meaning of economlc
liberalization?

S TrAead oY {2

A7/611 ( Turn Over )
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(e)

(9)

(h)

)

A7/611

(2)

Why is Indian .econom.ic planning called
democratic planning?
TSR] AT ARTEAIT R sy «Resen
Qe = ? o

In which year was the Twelfth Five-Year
Plan introduced in India?

@M e SReS T RS cifRTw W
e

State any one achlevement of Indian
economic planning.

Wﬁmﬁﬁﬂﬁ%’ﬁﬂﬁﬁmﬁw
TE

Mention one demerit of decentralized
planning.

 Relige ARFEAR B TIeTel ST T

Write one function of North-Eastern
Council.

Tex- “IR o1 I Foran |

State one weakness of the poverty
alleviation programmes undertaken by
the Government of India.

SRS HRIIE RGOl AT ST A2 0
SofCaRd ol ‘jﬂ‘il_'l TTER 390 '

( Continued )

(3)

() Mention one objective of Indira Awaas
Yojana.

2| [ @Wqﬁm forar |

2. Answer the following quéétions : 2x5=10

oot fran PP Bed faan ¢

(a) State any two Dbasic features of a
developing economy.

Wwﬁ%qwﬁ@mﬁrﬁmhﬁﬁr
o

(b) Mention any two long-term ob_;ecnves of
India’s Five-Year Plan.

SRSy “RAe ARTEAR @ @Al @1 e
Sre. Bead 90 |
(c) Give the meaning of democratic
" planning. ‘ :

serfae ARTEAR wy fordl |

(d) State two important features ofe
globahzatlon policy of India.

- oRe e e et P e
(¥ By 390
(e) Write any two achlevements of the

North-Eastern Council in the economtc
development of Assam.

T AR e Ses-o@ e f
o1 STFerel o |

conomic

A7/611 ( Turn Over )
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3. Answer any four of the following questions : () Point out any five areas of failure of

A7/611

Sx4=20 ' India’s Five-Year Plans.
oot fi & e B e e e - Wﬂ@ﬁ%ﬁﬁﬁﬂﬁﬁmwﬁﬁw
(a) Why is Indian economy considered as W§f3f§lﬁﬁ§ﬂ [
mixed economy?
sRoN S ﬁfﬂﬁ'ﬂ'\'ﬂﬁ" ® e oI = ? 4. Answer the follo"wi'ng‘ questions : 10x4=40
(b) Briefly state the role QﬁNEC in economic TS fA R e fe -

develogmem‘of N-E India.
TEI-oRfe AN TS e ofRwm
—ﬁw sz{zzﬁ a°f=n 0

(c) In the context of economm hberahzatlon

(a)

Explain the basic features and
consequences of economic globalization
in India.

TR GWNARTE CIFFIFIR - o4 CIREPTR

in Indian economy, do you thmk that the I FArFeqS PRI IFIAL .
importance of Five-Year Plans has
declined? Give reasons in support of your Or / {1

answer.
TSRO HAAT W‘ﬁ *fRceifFee Jwils
*RFFAR BT T ¢RI Lo B SR 2 (oM
W’iﬂﬂf?{@ﬂ%ﬁmlv

(d) Suggest any -five measures for the
success. of decentralized plannmg in

Discuss the broad strategies and goals
of Indian. planning adopted during
post—hberahzed period.

RO RN RS SRS AT
ﬂﬁzﬁmmawwﬁg—cﬁ*ﬁw

SRR SAICATSAT 41 |

Assam.
At ReBige ARFeR FTOR Frt ﬁ (b) Discuss about the present composmon of
GRIGAT #{o5! WWWERH | foreign trade in India."

(e) Write a note on India’s ‘.look-east policy’. Trefes TEE SNeR  (RTRT ?Tﬁ@ﬁ Orz|
SReY “fatal R ST Recw oS Gt foran | T ST

( Continued )

A7/611
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A7/611

6]

.Or / ==[d1

What do you mean by FDI? Explain the
role of FDI in the economic development
of India.

gors e Rivane T & @2 SR

gfifce gers P Rfcr s o
Ll

Define economic planning. Discuss the
rationale of economic planning in the
economic development of India.

AT Rz i 7 | SRSy wfAfT
TS WA ReEER IREO SeEm

1|
Or / &=[1

Write an essay on ‘NITI Aayog’.
T ST @oe @t 7o o |

Give the full form of MGNREGA. Explain
f:he problems for successful
implementation of MGNREGA.

MGNREGA-Y s qeich1 foral | MGNREGA-T

TR RN cFge Teq (I SFEIPTR. AT

91

( Continued )

A7—12*/611

(7)

Or / 971

Justify the need for poverty. alleviation
programme for India’+ Give your
suggestions for successful
implementation of poverty alleviation
programmes adopted in India.

SRy AR wREel [T WM AR
JEETeR R e fan st wiRge
HR4 SO T AR 0T (O @
SRR | -

’ % % K
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PHILOSOPHY
(-General )
Paper : 6.1 ’
( Ethics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer as directed : 1x10=10
(a) What is the meaning of the term ‘mores’?
* ‘Mores’ @ 94 ¥ ? '
(b) Give an example of instrumental value.
TR AR b1 S |
(c) Fundamental Principles of Metaphysics of
' Morals—who is the author of this book?
Fundamental Principles of Metaphysics of
Morals T S oS @ ?

(d) Moral theory of Kant is called
( Fill in the blank )

Whﬁww Qe |
( < 5% o ¥4 )
( Turn Over )
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(e)

(b))

(g)

- (b)

)

G)

Briefly answer the following questions :

oS fRan TR T el faun:

(a)

A7/616

(2)

What is the meahing of Rta?

g a2

Is Kant’s Ethics deontological?

Frog NS TSI 2

“Pushpin is as good as poetry.” Who is
associated with this statement?

“ER A TF FROT WY Y e 1
FUYNR A C(R ?

Define Swadharma. °

ey st faam |

Mention any one maxim of categorical
imperative.

s@awﬁ@mﬁv@ﬁm

Name any one supporter of Metaethics.

SRAETE /P o ST A fory

‘What is voluntary action?

Gt form I QI ?

(b) Name two supporters of hedonistic -

utilitarianism.

A SNSRI & SefF I fora |

( Continued )

e T ey em——

2x5=10

(3)

(c) What are the four Varnas?
o I e 2 |
(d) Mention the stages of voluntary action.
St RS IR T Sy F0 U
"~ (e) What are the postulates of morality?
(Afer Fierd Soprz o R 2

3. Write short answet (any four) : .5><4=20 ’

5y s forar (R coveent wifio) -

(a) Is Ethics normative science? Discuss.
MR wredd e 2 wncemeen F11 1

(b} Distinguish between instrumental value and
intrinsic value.
O E FOIETR A1 o o

(c) Explain briefly Kant’s concept of ‘Duty for
duty’s sake’.
o7 FER IR T A’ ’T""@ﬂ YIREIIHT
BYF TN

(d) Write a note on paradox of hedonism.
AT REAUTSPR €3S BT Rt e |

(e) What is Sthitaprajia? Answer shortly.
oo 7 o3 T |

(f)’ Write a note on hedonistic calculus. |

IR A LNAR SoFS Bt BT s |

4. What is ethics? Explain the nature and scope of
ethics. 10
MReEm 77 Qa7 MRErE 0 o ARE
RN 20

A7/616 - : ( Turn Over)
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Or/3t
Explain the dichotomy between fact and value.
O HIF TR TS 31 R 00 =40
5. What is value? Are the judgement of value -
derived from the judgement of fact? Explain. 10
o0 2 oo o 1 ReRA /1 st o Repe
FRI <R 2 I 90 |
Or/3
Explain Kant’s rationalism. Is it tenable?
Froq Rerar Rec I 91 1 X T2 2

6. What is hedonism? Explain the classification of
hedonism. 10
A R 2 SR cfRReTE I

Or/3r
What is utilitarianism? Distinguish between
Bentham and Mill’s utilitarianism. '
Toaferm I QRA? QEN WE - fen
BorfroRTE g o |

7. Critically explain the concept of Niskama Karma
of Gita. 10
TSR O] MOR FE™ 949 4= 00 30 1

' Or/ ,
Compare Gita’s Niskdma Karma and Kant’s
rationalism.

Nor Fzm TR A5 Fro3 RO Toralr 11 |

AR
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PHILOSOPHY
( General )

Paper : 6.2
( Philosophy of Religion )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following quéstions . 1x10=10
- werq e beg fordn
(a) “The literal meaning of religion is
that which binds man together.” Is it
true? ' o
“qeofdery T oY txr RE T
st Al 4R I 17 (X1 oA ?

IS

A7/617 ( Turn Over)



(b)

(c)

(d)

(e)

A7/617

(2)

“Philosophy of religion can be termed
as philosophical thinking about
religion.” Is it true? .

et o Tl TR four 3R SRRT -

FRI MR 1°? G TR 2

“A Philosophy of religion without
history is empty, a history of religion
without philosophy is blind.” Who
said?

R fRePTRER el TS S PARRT
o=t o 17 R IR 2

Is Philosophy of religion a part of
philosophy?

e T 9T TP 2

“Religion is a belief in an ever-living
God, that is, a Divine mind and will
ruling the Universe, and holding
moral relation with mankind.” Whose

 definition is this?
ol o o3 TorEm e Rer—R 2aRe

T S R Rumeres g ¥ A TS
NS (AT oo YR FR I % TR
IR?

( Continued )

.

(9

h)

f)

U}

A7/617

(3)

. Who was the main propounder of

animism?

ﬁm«mm@«m{am@ﬂwﬁm

State the name of the thinker
associated with ghost-worship theory.

oI T S SfYS BRI
T S 40

Who did first introduce the term
‘mana’?

S RO (A SUTCS oS FIAREA ?

What is the ‘axial period of religion™
“qf3 TRA ' CIIACOI 2

Introduction to Religious Philosophy
was written by whom?

Introduction to Rehgzous thlosophy
EIgAR (I FRfE 2. . :

-0

( Turn Over )




(4)

2. Answer the following in brief : 2x5=10
RafiRe erp vy e fm
(@) What is a ‘totem’?

RN ‘C'GK'W’?T W’Wﬁﬁq .

(b) Write the definition of religion offered
with reference to ‘values’.
P HYEAS FORCGAT 47 RO Teay
M

(c) State two points of difference between
religious language and ordinary
language.
My o/ oF AHRT SR TS 7 !
A1 TrEe 0

(d) Whether magic is prior to religion or
.'religion is prior to magic?

Y 0 oS 1 o T o ?

() What is the ontological argument for
the existence of God?

i wfg-Rere ot 3ReH1 B2

A7/617 - (Continued )

5

A7/617

(5)
3. Answer any four :of the following
questions : 5x4=20
Cod PR R @ vifRGR By ot

(a) Is fetishism a satisfactory theory of
the origin of religion?
TEERR G B ey SRS
M TA?

() Give the psychological definition of

religion.

43 eI wige faan o

() What is the real nature of the word
religion’ according to J. H. Hick?

o R W “of] b o T B2

(d) How does Taboo involve with Mana?
R, TR IS @A WS ?
(e) What is the relation of ‘philosophy of

religion’ with ‘philosophy’?
‘Rl oS T e R 2

( Turn Over )
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(6)

4 Elucldate the nature of Phllosophy of
religion. PN

ofefg gL, 3@% gz o .

. Or/ ST
Explain in detail the relation between
sc1ence and rehglon

ﬁwwmmwﬁWW|

S. Explam the role . played by the
psych010g1ca1 v1ews with regard to the
origin and development of religion.

fq T wre RIFR TS TARIE T TSI
SR U0 740
or/w%d -

Explain and examine’ the teleological
argument for the existence of God.

o3 wfyg-RE SORTET IR T +R Row
Rall

6. Make g comparatlve d1scuss1on between
animism and totetnism. "

2R SF GRoRmA GF TR S 4 |

A7/617

10

10

10

( Continued )

7.

A7—13*/617

(7)

Or/ AT

Explain animism as a theory about the
origin of religion.

o B e wffiiers wgchr T 0

State and explain certain important
features of religion. 10

w1 gFe (APEPR Ba IR I
Or/wI3 1

Determine the scope of philosophy of
rehglon

Wﬂﬁﬂaﬁw‘tW|

*x % %
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Pt SRR D i,
SQCIOLOGY .,
( General'} ..

Paper, ::6:1:- ;i 087 )
Pull Marks : 80
s Bt R

sze 3 hours

The ﬁgures in the margin, mdwate ﬁdl marks
forthe questwns B

Answer either in Engltsh orin Assamese

( New .Course ) SR

TS HER-IA ho a5l \.":l'o‘fi,§

1. Choose~ ?the coxrectnanswcr datldeize
@ﬁmﬁ@ﬁw;'rn to a0l e

(a) The concept of Sanskntlzanon was

,1 ":' T-‘~‘

1x10=10

given by "' : :
TPRSFAd mmzi‘r eReRRE

() A. R. Desai / 9. 9R. (e

(i) G. S. Ghurye / & b,
(iij) M. N. Srinivas /. @¥. . SifRI™
(iv) Irawati Karve / RS ?Flré

A7/877 ( Tum Over.)



(2)

() The book, Subaltern Studies is written

(c

A7/877

Subaltern Studies %3 FRR=
(i) David Hardiman
cofen e
(i) Ranajit Guha
RiC SR
(i) B. R. Ambedkar
R. WK, SRR

(iv) Jyotiba Phule

Article of the Constitution of India
gives the religious. minorities right to
establish and manage educational
institutions of their own.

__ wpmw wefe W ROMEEE
R ool e AROEE I SRR
SRE FRYE. 2 IR | '

i) 27 /24
(i) 28 / v
iii) 29 / 3> -
(iv) 30 / o

( Continued )

—_— .

@

(e)

A7/877

(3)

_ is the state or fact of belonging to
a social group that has a common
national or cultural tradition.

— %7 G R Tz Re Sl
wome! I MTFRT AT[ W @R AT
FEl

(i) -Race / &&1o}
(i) Class / @
(i) Ethnicity / B
(iv) Disability / w7

The book, Gender and Politics in India is
written by

Gendgr and Politics in India %31 ﬁiﬁ'@
. () Ritu Menon / 43 G |

(i) Nivedita Menon / fwfrer &
(iii) Dilip Menon / &% G

(iv) Pramada Menon / &M ecs

( Turn Over )
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A7/877

(4)

is the Indian - sociologist who
worked to develop a Dalit standpoint
perspective.

2 RN W‘W\Eﬁ?ﬁm wore el
WWW&%WNWI

(i) Irawati Karve
- [RE
(i) Tulsi Patel

PO PG

" (i) Sharmila Rege

e et

- (iv) Neera Desai

Right to equality is provided from Article
to Article -18 of the Indian

' Constitution.

oRO FROIT SR Rl SRR
St O oW Sf¥eH o T (TR

(i) 14/ 58
(i) 19 / 3»

(i) 12/ 5%

(iv) 25 / x¢

( Continued )

(5)

(h) Who among the following differentiated

U

A7/877

between ‘book-view’ and ‘field-view’?

e ke QFIRRE MR- e
CHE-SYR T N e 4ffRe 2

(i) Charles Metcalfe
HEf> (oI

(i) M. N. Srinivas.
. @@ Bfm

(iij) Holtz Mackenzie
s oa |

(iv) James Frazer

(SR GFEN

Scheme is a school meal
programme of the Government of India '
designed to ‘improve the nutritional
status of school-going  children
nationwide.

____ il «F crrRI ven R <0 oot
R R amn frse off2 Remr w3 |

() Mamoni
pibiCi

(i) Mid-day meal
Y= (SIS

( Turn Over')



(6)

(i5)) Majoni
™=
(iv) Indira Awas Yojana
2 SR @l
() ___ is a part of social media.
ST SR T T S XA |

(i) Peer group
SR R

" (i) Facebook '
. Sia . o
(ifi) Family ~ |
(iv) School
- Roew

2. Answer all questions : 2x5=10
e 2R et o
(a) What is the difference between

nauonahsm and sub-nationalism?

w@mw%—w@u@m‘ﬁ%‘mﬁw&?

(p) What do you understand by rights of
religious minorities?

S SrRreTy SRR | & @2

A7/877 ( Continued )

A7/877

(7)

() What is the difference
seculansm and communalism?

(B PRUIER W TR bi
“A1e{FT 3 2

between

(d) What is the difference between ‘book-
view’ and field-view’?

“R-SER HIF CRI-SE’Y T 1w R 2

(e) What is social inequality?
A Sl & 2

3. Write short notes on any five of the ,
following : 4x5=20
wore TR R e isbr ml ot o

(a) Sanskritization and Westernization
TPEFT AF APBISTFIT

(b) Civil Society
o) T

(c) Ethnicity
TS

(d) Role of education

e gRe

( Turn Over )




(8

- e) uSustamable development

o

4, Answer any. four of the followmg

S AR
CNTRIT

ﬁmwﬁm .
L ST v F I IO PESETE S

Child rights

I
1

10%4=40.

wﬁmﬁmmﬁbﬁwm

(a)

(®)

(c)

AT7/87T .

caste.

Cntlcallyevaluatethe colonial discourse
in understanding Iridian society. 10

TSRO W SRS SRt e

BRI AT Rame SsTeRT |

Cari'cdste be annihilated? Explain with
referenee to B R Ambedkar’s view on
) b AN v \ 2+ 8= 10

i Pere #f¥% A7 ST o TR
R. o[, SRR T G2 SRR TS 101
LS 1N

Is there a relatiori between gender and

land rights?” Why do women need
independent rights in land? 5+5=10

o wE RSP e oo SIRE ?
IR G SRIRE FRTOR Ry 2 2

( Continued )

(@

(e)

(9)

A7/877

(9)

Discuss the impact - of globahzahon in
Indian society. 10

SO STIES (TR LS S 47 |

What is casteism? Explain how casteism

is an obstacle in the development of the
country. 2+8=10
A [ 7 WA 9 (PR THHTS T
RER T, 991 31 | ‘

Who are Dalits? Discuss the challenges
faced by Dalits in modern India. 2+8=10
wRreT (T 7 YR SReS wfreee
IR YR CZ, SICAB T4 | |
“Women in contemporary family dramas

and television represent true woman-
hood in India.” Critically comment. 10

‘WWWWWW
e ol wfe qRg  efwEhe IR "
FACATAIFOIR AT 4 |

"Do you agree with the view that the

reservation policy in favour of Scheduled

" Castes and Scheduled Tribes has
reduced social inequalities in India? 10

 SRON IR TSl AR IS HPHS

W S Fpe eI A S
¥R ¢TI *Nfceee 2 fe wo 7 ran 41

( Turn Over )
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( Old Course )

1. Answer the following questions as directed :
1x10=10
ST e P fATRpie e fomn
(a) All the people who are felated by blood

in any way to an individual are known
as

(Fill in the blank)

R @A 9P 98 AT o151 (5 T

@ SRS e . AT = @
= _

(9 3 [T )

(b) Being in a same sex relationship does
not mean that you and your partner
can / cannot become parents. '

(Choose the correct answer)

Pric B Un i oiing CIE (GRS S L B Cun
T @ oR wF comR AR Pe-ae I
{1/ IR

_(@ﬁmw%ﬁ@)

(c) Those who are related to a person by
marriage are called _

(Fill in the blank)
ge IRA s e Rz T o

ciTeR_____ ™
(18 S =T F¥1)

A7/877 . ' ( Continued )

(11)

(d) Who is the author of the book, Kinship

(e)

)

A7/877

Organization in India?

Kinship Organization in India fFerriRT
foree w2

Lionel Tiger and Robin Fox wrote the
book, Imperial. Animal.
( Write Yesor No)

frsew bR wE IR TH-9  Imperial
Animal R} 351 FRR |

(= 7= foran )

Emile Durkheim was a French/
American / German sociologist, pPsy-
chologist and philosopher.

(Choose the correct answer)

e IR ' TR/ SRR/
SN OIS, TeeRy wF  wrfee

et 1
(o Tt TS TRre)

In a matrilocal family, a woman / man
along with her / his husband / wife
resides at the residence of her / his
mother. :
(Choose the correct answer)

( Turn Over )




Ll

)

0

A7/877

( 12 )

ngEaE e @/ wR@iR /T
W‘@/’@WWWWW

(= Taeor 1 Bferean)

ConsanQuinity is a term wused to
describe the relationship between two
persons who share at least one
ancestor.

RSk

(Fill in the blank)

TS WSl A @B W RAGR T

TR T @R ITA w =W I/
ik S

(ﬁquw)
An extended fé.mily is a family that

extends beyond the family.
'(Fill in the blank)

REe e 271 @3 AfRge, ﬁﬁam.

fr=ee! 31 R wfocz |
(X 512 @ F0)

The genealogical method is a well
established procedure in studying
(Fill in the blank)

AR I3 IR oS 3 9B wE
AfSTES Ty |
(1 5% <71 )
( Continued )

2. Answer the following questions :

(13)

2x5=10

wars fRur eppTRe e o

(@)
(b)
0
(@

(e)

3. Answer in brief (any four :

What is bride wealth?
MR

What is surrogate motherhood?

i (T[9! 3) TP &2

Write two merits of joint family.
A ARAETR o1 BB By |

What do you mean by double descent?

T IR o R g e

What is the meaning of clan? |
comras o R 2

5x4=20

o Beq fra (R e wifRy)

(a)

A7/877

State how do families
socialization.

AR TS @S S I, Ty
I |

help in

( Turn Over )




(14 )

() Discuss five merits and five deinerits of
nuclear family.

wqﬁﬁﬂﬁmmmwmm
HIZAG 41 |

(c) Write notes on sex and sexuality.

sl SIF TOR @{S GReT BT |

(d) Discuss different forms of marriage.

ﬁ@ﬂﬁwmﬁmmwu

() What do you mean by corporate and
non-corporate groups? Answer briefly.
WAFS oMb wrF wRAPS card Yfeicer R =2
LS T fa |

() Write a note on dowry system.
AT AU @[S BT BRI

4. Answer the following questions (any foun :
10x4=40

' Wﬁmmm%wﬁm(ﬁ@mvtﬁﬁjz

(a) “Disorganization of the family as a
primary group is an unavoidable
consequence of modern civilization.”
Discuss.

A7/877 ( Continued )

(b)

()

(d

(e)

A7/877

(15)

“SIIW cop PRomet AR TRAsARTER X
RS TeTOR GIR IR FoFe 1°? SCeloet]

M

Define marriage. Why is it important?
Discuss some rules observed in
marriage system.

e wen fm) % R aamedne Rar
WW‘IWWWWW
I

Define descent. What are the different
rules of descent? :

wwwwﬁmmﬁﬁm
R

Discuss new reproductive technologies.
Is it a solution or problem?

ﬂwmeﬂmﬁmwwuim

SR G R ?

What is kinship? Do you think kinship
is one of the main principle of human
society? Discuss.

oSl /ardEer 2 mmwm@m
TR A 24 AR fowe obr I/ o
ORI ? ST 97 | '

( Turn Over)




(16)

(0 Discuss elaborately on Gay and Lesbian
family. :
oo S @RI ARIER Ry IR e
]9

(9) Do you think marriage is a sacrament?

- Justify your answer.

RAR @ g I P IR SR ? oER
TeTs e wefir |

*x % *

A7—600/877 3 (Sem-6) SOC 1 (N/O)’



3 (Sem—6) SOC 2

2017

SOCIOLOGY
( General )
Paper : 6.2
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Fill in the blanks by choosing the correct
option/Choose the -correct answer of the

following : 1x10=10
ToRe W= IR W woe RIRRT S 9R [
1 /o% Tech IR s :

(a) The Sociology of Gender : An Introduction
‘to Theory and Research is written by

(Amy S. Wharton / Laura Kramer
/ lvan Illich)

The Sociology of Gender :@ An

Introduction to Theory and Research 9
Rrererm fifdfee ____

(Amy S. Wharton / Laura Kramer

/ Ivan Ilich)

A7/878 ( Turn Over )



)

@

@)

(e

A7/878

’ (2)

Social interaction thus is an important '

process in which gender emerges and
. (evaluated/enacted /educated)

e SRR @1 eved afe e
Rt wF ____ =
| (e, wizers /o)

Caste is a closed __

(class /family/group) -

' %ﬂf% Q’ﬁ W |
(= /~Rar /%)

The Progressive Organization of Women
(POW) was formed in .
- (1973/1974/1975)
The Progressive Organization of
Women (POW) IS ¢2fei _____ %@ |

(1973/1974/1975) .

3

WRB stands for
. WRB @ R
(i) Womén Reservation Bill
{iz) ‘Women Restriction Bill
{iii) Women Reprmentéﬁon Bill

( Continued )

-

L -

(3)

() Gender is
fomat-o/9 ("
(i) system of social practices
o1 AP SegRler aifers
(i) system of cultural practices
b1 ARFIEF SR A
(iii) system of political practices °
b1 AT Sener Al
(g) Throughout history, division of labour
have developed along the lines of

SfZPrEeIE, 193 Bra-RoreR &1 wE
- (i) sex
fors) TTR WewAI
' (i) gender
PRrI1-2RT9 IRFR ACHI
(i) sex-gender system
forsl oI PRe1-2/RF T 9T TCEE

h ‘Towards Equality’ report was first
published in

‘“Towards Equality’ Reibci 22 eﬁﬂﬁ@
=T BB ~
(i) 1974
(i) 1984
(iii) 1994
A7/878 ' _ (Turn Over)



(4) - | (5)

() SEWA stands for ‘ (d) What is the difference between sex and
SEWA % 5[5% gender? '
' ' forRst o foiRst- 213 e o1 R 2
(i) Self-Esteemed Women’s Association ’ R o
(i) Self-Educated Women’s Association () What is Women Empowerment?
(i) Self-Employed Women’s Association R FREAFI T 2

() ‘Chipko Movement’ began in ) . )
3. Write short notes on any four of the

" ‘Chipko Movement’ WS 1 518! N . following : - 5x4=20
) 1973 | oo R Ie BiiPIR @oe o (BT for
(i) 1974 - . (a) Violence against women
(i) 1975 | - ‘ 7@ e
2. Answer the following : - 2x5=10 _ (b) Power and subordination
TS f P e g - . | HO! F ST
(@ What do you mean by gender
. differences? (c) Gender is a social construct
PRal-299 oMoy e 32 - | foret-ereaet C2er TR
(b) What is sexual division of labour? ' (d) Gender and politics
= Forel-Reerem R 2 _ - Brol-2i oI AEAS
(c) Write very briefly on masculinity. ~ (¢) Compulsory motherhood
G €S S vyt o | - IORETE YR

A7/878 | ‘ ( Continued ) A7/878 : ( Turn Over )



(6)

4. Answer any four of the following : 10%x4=40
ol R e wiRkbR Tes o

(@) Discuss how gender disparity affect
property rights in India.
oRete - Bt weWeR TR SR
(AP AR AT, oA 47 |

(b) Discuss how work-family relations
influence the conception of gender.

foro-ag9re @@ FA-ARTET TTEE ge”
AT, SICEAISAT 3610 |

(c) What is sociology of gender? What is the
significance of sociology of gender?
fro-apem  mEey 7 Bro-emeTe
ETeg o & 2

(d) Discuss in detail the social status and
positions of women in North-East India.
SREY Tee-Kivem TR TRT RS W
SREN s Reweica sneasi 37

(e) Discuss Caste' as the factor in the
process of influencing class and
patriarchy.

Ho-2R @es N AF FITT AeiR©
LY, AL T |

A7/878 . , . ( Continued )

1/

(7)

Discuss the practice of witch-hunting
amongst different ethnic societies of
Assam.

Wﬁﬁwmﬂmv@-ﬁm

| SR ST SICEAS 3T |

(g)

A7—600/878

'Discuss the changing traits of feminism -

under the impact of globalization.

R AR|fEe T PR T
eifde R, SCET F90 1

* % %
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POLITICAL SCIENCE.
( General )

.. - Paper:6.1 s e

P
Do

( Public Administration )
Full Marks 80
’nme 3 hours

The ﬁgures in the margin mdzcate Jull marks
Jor the questions

Answer either in Englzsh or in Assamese

1. Answer the followmg quesuons as dx,rected

1x10=10
T a!rﬁam ﬁm Wiﬂﬁ B, ﬁ‘m
(a) What is civil semce?( - o
- RS ORI i R 2
(p) In laissez-faire State, the functions of
n  ~-governments were confined..to; which
activities? .

'Wvﬁ@?@@ww&w
Sifte wf2e ?

“A7/614 ( Tuiri Over )



{c)

(d)

(e)

{9)

A7/614

(2)

Who is the author of the book, Essay in
Sociology?

Essay in Socwlogy TE A GRS
@A ?

The term ‘bﬁreaucracy’ has been
derived from which.French word?
‘Bureaucracy’ (SICHISE) NHCBT  PFCH!
T *¥ *[ SRR ?

Who, in India, is the Head of the
Department of Audit and Accounts?

W&mﬂwwﬁmﬁwﬁaﬂw
@M

The word budget was first used in

England/Amenca/France
( Choose the correct option )

qES A g NS/ RIS /S
IR 9 &
LD

Who first used the term ‘development
administration’?
@A A REpr epp ROl IR
SRR ?

( Continued )

K

)

U

(38)

‘What “do’ you fmean- by accountabm
WAl N ﬁf im ?

pee £y

Write one method of leglslatlve control.

ﬁmﬁmﬁaﬁﬁ%%m }m}: .

What is the tenure of the Cha.irman of
UPSC?,) -

@@aﬁmmﬂawwmm

2. Answer the foliowing questlons : 1x10=10
oo 2R T o ;
(a) Distinguish between smgle budget and

()

()

A7/614

plural budget
@ WD W W o AL
ST |

- . - ) ’
Mention two advantages of promotion
by, seniority principle. :

mﬁ@—m@qﬁmm.

Mention two functions of civil servants.

spfRe RER wo1 o o1

( Turn Over )




(4) (5 )

(A What joiss: thee- -difference - between

3. Answer-any fourof thefollowing questions :*  »
education and traunng?

s

e o - 5x4=20
e |
ﬁ-ﬂwaﬁ*ﬁ«mWﬁ? @O AR R e wifde T o
o (@) -Describe budget as a tool .of socio-
() What arter::‘e t;vo f?.cgts of development economic transformation. - -..
adminis oh coTe
S-SR RS iRt Roweq AcEs I
. ﬁfm smma o T ﬁs ﬁs ? ’ 1
- k i 2t
0 What are the differences" between o _
© accountab:hty,agdweannsmmty? ' () Wnte a note on habeas corpus.
RIES S WIS e o1 R 2 ﬁ%ﬂﬂweﬂwmcﬁmﬁwrl
< (a): \é:’;lte two funcuons of. ):heqpubhc Service % () Distinguish between surplus bu dget
mmission. SRR © 91 . and deficit budget. b1 i
WWWWWMI - m&w@wmmmoﬁﬁ |
Pl R = T - e e St .
(h) Define Public Adrmmstratlon u e
CWILCE| ’T’@I AR o (d) How can people exercise control over
CWI?F o - ey administration?
(i). Mention the penod of financial year :v', - SPPTE GWTWIW‘I & iz:!@i‘faq’
gt m hldla L ur e . N . N T LA
61013 S ‘I“
SRe] ﬁ@m?‘ﬁ WWI (e) Describe bureaucracy as a carner of
S St T _change.
() What do you mean by Personnel JRTER T RO mﬁr@a ?l‘f?{l @'{[ !
Admn-ustratmn? L . .
e e PR - -

A7/614 ( Continued ) A7/614 ( Turn: Over )

P



_ (7)
(6)
(e) What is development administration?
4. Answer any fourof the following questions: : Discuss the features of development
o 10x4=40 administration.
Wmmﬁﬁ@mvﬁﬁawm: Rt 2papa T 2 Rerd epe GFBPIR
(4). Evaluaté the role ‘of civil service in ST 41
‘ modern State. .. :feY 00y
. . ining? Discuss
e iWWWWWWI ( What do you mean by training
different types of training.
Q #freT I B w2 R oem o
(b) Discuss in deta1l the yqnous types of . Ry scamean 311
accountabxhty ~ W :
o R 2T TR S 1 | o -

PR BN Lo .

(¢ What is Lokpal? - Briefly discuss \the

powers of Lokpal. .
IR 7 oo FOPHR TF A
Eaill '

~ 1

(d) What is RTI? Discuss the importance of
RTI Act in redressal of public
gnevances
oY TR wfign 7 SPTET S
TP cRae oy wAE SRER SRW 4R
SICEATST 47 |

A7—50*/614 : 3 (Sem—6) PSC 1
A7/614 { Continued ) :
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" POLITICAL SCIENCE
‘(Géneral )
‘Paper : 6.2
( Select Constitutions )
o " Full Marks ::80
' Time: 3 hours

The figures in the margin indicate full marks
Jor the questions

",—;"'.vl. o . ‘IJ: _t‘. T ) v \
Answer either in English or in Assamesé

1. Answer/Fill in the blanks /Choose the correct
option/Write True or False : }-"10"10
Tiaq o/ S 9@ a1/9% sl R Sferean/

o1 1 ey o o
(a) Whose name is associated with Cultural
Revolution?, ;. .. .
- SR Red 14 T+ §YS?
(b)) What is the total number of members of
the National People’s Congress?
WO S11-Feangd J9 00 RN A 2

A7/615 ( Turn Over)




(c

(@)

(e)

(/8

M

A7/615

e (2)

In which year was the People’s Republic
of China established?

R TS - ﬁ@ﬁ?‘ﬁ;ﬁﬁ?ﬂ‘@?

The Chinese Constitution of 1978
became effective from March.
3%ar B ___ WIf OIRRT o[ B Pre
IR RRY IR |

The judges of the.Swiss Federal Court is
appointed for years. '
REReEed PRPFE /W IX

The tenure of the Central Mlhtary
Commission is years.

B R S F____ TR

The tenure of the National People’s
Congress is 5/4/6 years.
w@wq—vwiaw e/s/eﬂlﬁl

The 1982/1978/1975 Constitution
declares -China. to be a Democratic
Socialist State.

Sopy/35ar/389¢ by R B

Aol et T8 I o fex |

( Continued )

(3)

The Catholic Conservative . Party is a

W
political party of valtzerland
@UEF THPNA g‘mweﬁ B arﬁtwﬁﬂs
el
() New Democracy is a concept put
forward by Mao Ze-dong.
TG ATETH TF! T (5-5s SRGIR |
2. Write on the following (any five) : 2x5=10
oo T R ﬁm (ﬁ Sl “fioo1) :
(a) Plural Executwe
I IR
(b) 'Recall
TR
(c) Constitution amendment power ‘of the
Federal Assembly of Switzerland
SReCIeT TORE O RYA TN T
- o
(d) ‘Two diities of thé ‘meibers of the
Communist Party of China
B TR 7ol TOT {01 T
A7/615 ( Turm Over )



%)
:(e} Foreign investment . - . - &
| Mﬁasﬁﬁmﬂ L’ v
() Two functlons of the Chmese Vice-
President

ﬁﬂ?%‘ﬁ@oﬁ%’q@w v

Bl . e

3. Write on/Answer the following (any four :
5X4—20

'Wﬁﬂmﬁamﬁwﬁmﬁm(ﬁmvﬁﬁ)

(@ COnstltutlona.l position of the Cantons

@ R

(b) Importance of Fundamental Rights and
Duties in the Chinese Constitution ,

B KRS (iR SRR S T 9

() Executive. power of the P.resxdent of
People’s Repubhc of China.

ﬁ“ﬂwﬁﬂﬁﬁﬂ#ﬁaﬁww

(d) What are the privileges of the members
. of the National People’s Congress?

WO -,
R TR oI 1 qﬁm

A7/615 ( Continued )

(5)

(e) Write any five features of the Swiss

Judiciary. -
7 Ry e R b R

(). Discuss the consﬁtuhonal posmon of
the Swiss Federal Assembly

ST RITEREN .‘:'/-,' : im0 .
4. "Answer the followmguquéstlons . 10x4=40
- 5eT® Rl PRI Wﬁzn

(a) _Discuss the role of the State Counczl in
" the pohtlcal system of the People’s
' Repubhc of China."

i SCeo ¥4,
RIS . w;O’/ JE . Y
Discuss the main features of the judicial
- system of the People’s Repubhc of China.
T amER o geEd o . GREPTR
HICEToA] 91 1

() What do, you mean by Direct
. Democracy? Discuss the reasons for the
successful working of direct, democracy

ig Switzerland.
oo TS e QAN ? TRANCAYS  AOTR
SITOF FOIHOR FRPHE For |

A7/615 ( Turn Qver )




{6)

- Or/7i\

Explain the relatlonshlp between the two
Chambers of the Federal Legxslamre of
Switzerland.

| "’Mﬁmwﬁwww

(c

(d

A7/615

WﬁﬂW|

v

Discuss the role of political parties in the

governmental system of Switzerland.

Why are the political parties less

popular in Switzerland?

‘WMWW—WW

A 341 | Wﬁwmwﬁﬁw
¥ eE 792

Or/7 i1

What are the diétinctive features of Swiss

. federation?

W?Wﬂwmm (1513
R

Discuss the evolution of the
Constitution of the Peoples Republic
of China.

ﬁaﬁwmmzﬁmﬁasmﬁwahﬂn

{ Continued )

A7—50*/615

(7)

Or/ &N

Discuss the power and functions of the
Council of Ministers of the People’s
Republic of China. How is it formed?

B R @ RTE e W IEEE
A 791 1 R FER e =W 2

.5 8 4
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~, HISTORY
| ( General )

ts

Paper : 6.1 ‘
( History of India 1857-1947 )

Full Marks : 80. -
Time : 3 hours

The figures in the margzn mdzcate ﬁ;ll marks
for the questions
*® Anstier either in En'gl.i'sh‘ or'_iri Aésdrﬁese

1. Answer the followmg 1n one word or
sentence a e 1x10=10

o SR S T I 1 e ﬁw;
(a)  Which Indian’ Act is also kn(_‘)wn as the
Act for-the Better Governmentiof India’
DI E i T 5o J
{f%l TN A ?

(b) What was Neo-Hinduism?® -
: Fﬁ-ﬁ“ﬂl‘? & =iz 2.
(c) Who was Dr. Atmaram Pandurang?

Wlo SR *gR G SR 2
A7/612 ( Turn Over )



)

(e)

(9)

)

f)

1}

A7/612

Y (2

Who was the founder of Ramkrishna
Mission?

mﬁmﬁ%mwﬁﬂ?

What was Suddhi Movement?
of e & e

What was the Vernacular Press Act?

SIAFAR oA 2

Name the Viceroy who passed the
Ancientt Monuments Protection Act in
India. .

SReS , ol ﬂﬁﬁ% E WA AR
—ﬁmmﬂ & wifRE ?

Name the college opened at Aligarh by
Lord Lytton which later on grew into a
university. .

6 R SRS I Feerre T & =i
Rt “v® RARMERE Fees t@ﬁa 7 .

What was 'the earlier name of the Indian
National Congress? '

w@aw@a%@%"ﬁ%mﬁwﬁm

Who were the thrée members of the
Cabmet M1ss1on?

@Wﬁwm%ﬁwmwﬁm

( Conitintied )

(3)
2. Answer in short : -2x5=10
© 5y Teq
(a)

(b)
(c)

d

(e).

A7/612

Mention any two weaknesses of the Act of
1858. -

wwma'wﬁsﬁﬁm@ﬂﬁ’a@rﬁm

Mention two goals of the Theosophical
Society.

s HoiRf5S 151 WAWW I

Write two financial reforms mtroduced by
Lord- Lytton.

a@ﬁmw@wwﬂnml

Where was the Second Session of Indian
National Congress held and who'was its
President?

SREN WO s RS o1 Fo A

BIF @ R SIS P A 2

‘Mention the date on which Pakistan

formally became an,independent State.
Who was its first Pres1dent?

Gﬂﬂ@lﬁm‘nﬁ’mw Q9 Fiaw
WW@TWWWSIW?@%@H
1% 2

( Turn Quer )




(4)

-3 Answer any four of the following questions : .

‘Gaaiicauﬂ1vﬁﬁnemﬁ*?@aﬁ%n

(@)

®)

@

@

‘A7/612 -’

What factors encouraged the Br1t1sh
Government to promote: local bodies hke
Municipalities, Corporations, etc., after
18587 ]

Svrer T e & & 10 bR 99T SRee
feRbeafe, fem Mo At oty Twre-
o SR SR R ol R ?

Who was Sir Sayéd Ahmad Khan and
what was his .rcpntribuﬁor} _to the
education of the Muslims?

PR W W 4 (P SIS 7 T

Piftrs 7R ot cod R 96 i ?

What was the Ilbert Bill Controversy?
TR R Gt e Rawfs B e 2

What led to the spht of Ind1an Natlonal
Congress in 1907? I "
/ ey

304,57 w@ﬂ w@a ?’Cﬂ'ﬁm FR4
153 ST

<
SX4—20

( Continued )

(5)

~(e) Write a short note on the :Home Rule

0]

4. Answer any four :

Movement.

Gﬂ$ﬁﬁvmvmawaf¢nauﬂBs{dm¢rﬁFn|

What were the proposals of the Cripps
Mission?

Rpero fivct SIsrCeRT sRRPRR 3 it 2

(@)

Discuss the changes in the British
policies and attitudes towards India after

1857.

waqmﬁw—ﬁfﬁﬁ%iﬁww

- RS rF TSR R e 4 |

()

'A7/612

Give an estimate of the admhﬁs&aﬁon of
Lord Ripon as the Viceroy of India.

SRSy S R 6 Repew e «ifo

Rcichal
()

What were the factors that led to the
growth of Indian natmnahsm?

TR WOFORM MR TS ﬁ% 153 amu¢
SfR2 @R 2

( Turh Qver )

10x4=40




@

(e)

A7/612

(6)

What changes were introduced into the
Indian Military Forces after 18572
syea B APT SROW FRRE ARAeS & &
RS e 1 e ?

Discuss the aims and.objectives of the
Swadeshi Movement. What were its
results?

TR Foe & ofeet ?

Why did Gandhiji  start’ the
Non-Cooperation Movement? Why was it
stopped suddenly in 19227

TR MR SR e 9 1S TR
TF 33 TE Pk ¢} WoHer @
<ffRE 2 -

Or / ©%q1

What was the Civil Disobedience
Movement? Why was it launched?

S ST e R wifie ? % e R
w z ﬁ ?' . Lt ' » .

( Continued )

(7))

(g9 Why was the Indian National'Army (INA)
formed? What were its contributions to
the freedom of India?

Wam oeE 9 R ORd W SRe
FRTOR e TR SR & wife 2

* % %
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HISTORY
( General )
Paper :-6.2
[ History of Assam (1826—1947) 1

Full Marks : 80
~ Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in I word or
in 1 sentence : 1x10=10

TS TR eppTRY Bed Wbt 37 bt IS fora -

(@) Who was the first Prince of Assam to
revolt against the British?

R Recs Rear 71 SPRA 24T IEFARE
W HIfRe ?
(b) Who was the last Ahom ruler of Assam?

T R & S P (P R ?

(¢) In which year did the English East India
Company introduce Bangla language in
schools and courts of Assam?

AW B Wow @A R e SR
R S SHESS 167 SHN 6o PR ?
A7/613 ( Turn Over)



@

(e)

(9)

M

i

0/

A7/613

(2)
Who was the author of Hemkosh?
“CRACIT'T CIHF (T IR 2

Who is regarded as the first Assamese
tea planter?

219 SN O (IS B 19 A0 39 3 0

In which year did Gandhiji first visit -
Assam?
R 5O TMeNE AW I AR W I

rasﬁfiﬁ?[

Who was the President of Pandy
Congress (1926)?
oftg TR (3336) I NS CFH e 2

Name the President of the Swaraj Party
in Assam.

ST AT Yo Srerife A o

In which year did the British annex
Cachar?

@ﬁ?@@mm—wvﬁmﬁwv

Who was Tirot Singh?
oG R o iR 2

( Continued )

(3)

2. Answer the following questions in brief :

2x5=10

To TR 5 e fan

(a)

(b)
()

@

(e)

A7/613

Name two persoris of Assam involved in
the Revolt of 1857.

Srea WWWWWWW
9 T o

Write two céuses of the Patharughat
Uprising.
stereRiEa vy 1B T 7 |

Write two . impacts of Swadeshi

- Movement in Assam.

SIS TR SIS (o1 AR o o

In which year and where was the first
Session of the Assam Sahitya Sabha
held?

WWWT@WWW'ZIW
iR e e

Write the name of two members of the
Ministry formed under the leadership of
Gopinath Bordoloi in Assam in 1946.
TS 3580 B (AN IWMAR (Tpwe SIS
R SFTSR T Te19 I B o

( Turn Over )



(4) D (5)

3. Write short notes on any jfour of the

(c) How did the Company establish its rule
following : Sx4=20

‘ in Manipur?
wore fua & e mﬁ%ﬁ oreT o
i : AR TATS @A =P 2Af8T F(RMRe ?
(a) The Treaty of Yandaboo :
SR i ' (d) Throw light on the development of
g Assamese language and literature in the
(b) -Anandaram Dhekial Phukan 19th century. '
T CORPTm 9 wﬁmwmwwm&mﬁﬁm
¢ (c¢) Causes of the failure of the Revolt of 8RS AT 1 |
1857 in Assam @ A th ) £ th . litical
5 o ( ssess the role o e socio-politic
© 3ved B A associations in the New Awakening
{d) Cunningham Circular in Assam.
FIR eI ST TSRS G- AT PP
{e)} General Election of 1937 in Assam mmw'

SIS 3594-F YR A0 () Write an essay on the Peasant Uprising

4. Answer any four of the following questions : at Phulaguri. _
| 10x4=40 FoeRy T REmy e e 9If T 38
@] 2P R @1 vt T forn 01 ,
(@) Discuss the administrative reforms (@9 Discuss the impact of the -Non-
introduced by Major Jenkins. Cooperation Movement in Assam.
CToR (RS STl 1 2T SRR TS SPREAI ST SO SEoeT 1 |
fS SO SISIICET | ‘

(h) To what extent did the people of Assam

() Narrate the circumstances leading to participate in the Quit India Movement?

the annexation of Upper Assam by

Discuss. _
the Company. o SR SR SRS s TS R
RANRA I SEf - o g . QIS SRR S 4 |
TR O 39 34 |
A7/613 ( Continued ) * * *x
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. 3 (Sem-6) EDN 1

2017

EDUCATION
( General )
Paper : 6.1
( Educational Technology )
Pull Marks : 80
Time : 3 hotrs

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions :

SR TR Tey ford :

fa) Choose the correct answer Afrom the
following : 1x5=5
TS AR o[ oF SEah! AR Tfere

(i) “Technology is the application of
scientific knowledge to a practical
purpose or problem.” Who made

this statement? _

“cm Rew IARE S T
SIYF IR NI (TS S AR A
ergRefmT 17 RETBT (PR IareiRRet 2

A7/608 ( Turn Over )



A7/608

(@

(2)
(1) H. J. Livit |
«%p. (. s

(2) T. Page
. ¢

(3) McGrath , .-

aRe
(4) Haddan
A

The nature
classroom is

CRNCPIOT® T LR 4O
(1) non-verbal
e .
2) verb.al
aRe

(3) verbal and hon—verbal
RE oF SR -

:(4) None of the ahove

| 89[Y BIS T

of interaction in

( Continued )

A7/608

(iii)

(iv)

(3)

“Microteaching is defined as a
system of controlled practice that
makes it posmble to control
condition.” This ' statement was
made by

i SR o I T
wﬁmﬁ@ﬁﬁ@ﬁﬁﬂwqw
SO NS ARG AICel ST I
Coleat 1”? % BReECHT SeRuiRfes

(1) J. C. Clift

(2) Passi and Lalita

(3) Robert 'Bush*
[T

(4) Allen and Eve
T WF TS

The Bra.nchmg programme Wwas
introduced by . - m s

*rwr’i@msﬁ W?ﬁfiﬁ[{, oA

©(1) 'BRF. Skmner e

o
ey

ﬁwﬁm

(2) Norman Crowder
TR FGTR
( Turn:Over )




(4)

(,_:_3,). Dale (i) The second phase of teaching is
A | post-active phase.
(4) E. L. Thorndike fremm IR B8 oI (xR T
3, @@, o ! L o
() Projected aids are (i) Mass instruction is an aim of
o . P T instructional technology.
‘ t o si-fRgtm Rt ﬁzﬁﬁwm i
(1)- Audio aids 7 | _
l‘lﬁ‘l’lﬁﬁ (iv) Overhead projector is one of the
(2) Visual aids < types of non-projected aids.
i STl OIS ATHET wzw’rm suqﬁﬁ o1
! ¢ - K} P
(3) Audio-visual aids IR 10 ‘
) (v) E-learning is the method which
Q- .’ﬁﬁ enables people to learn by the use of
(4) None of the above ?leCfmmC machine. o
@o[q GB18 T gl R TR TR RE @ aweR
RS A AF e Rt Ty

(5)

(b) Write whether the following statements
are True or False : - 1x5=5
oS fral SfeR o1 v Ry fora 2. Write briefly the followmg questlons : 2x5=10

(i) The main " objective of educational
technology. is to introduce the use of

T PP T o ford

(a) Write two objectives of educational

media in education. technology. -
i 2RO 9 SoRn e Frero vafe gReRI o1 ST T |
SIS T ST TN @T
A7/608 : : ( Continued ) A7/608 ( Turn. Gver )



(6))

“(b) - Write two ' charactgri‘stiq;s, of
microteaching. . . | -

- eefrEperg o1 ¢y o 1
() What is inter-personal comfﬁﬁnication?
s e e :
+(d) Define teaching aids.
et STgferg siget o
(e) What is Internet?

BB R

. Write short notes on any - fdur of the
following : 5x4=20

YT ar

*ﬁﬁr"ﬁhnamaa°Fniﬁmﬂm5nvﬁﬁﬁasg¢3ﬁﬂﬁ#m
(@) Scope of Educatlonal Technology

Ewﬁﬁsz@ﬁSﬁﬁna°ﬁbﬁ

(b) Pre-active phase of teaching

, f#ﬂmﬂwaﬁﬁ'¢ﬁﬁﬁhﬁﬁ

() Objectives of microteaching e
SfEreEeR S )

(d) Characteristics of communication
MR C3FE -

" (e) Uses of flow diagram

e o IReTR

A7/608 . ( Continued )

(7 )

(0 Innovation in education

fRree g

4. Answer the “fbil‘owing questions : 10x4=40

OO PPy Ted ;-

(a) What is educational technelogy? How
~does the knowledge -of .-educational
technology help a tegchér? Discuss.

© 3+7=10
G agfeRm ﬁ%v Zﬁﬁﬁ$ agfeRmm =
ﬁﬁﬁﬁ$ﬁFWiﬂﬁﬂ?R§“WFmﬁnﬁﬁrI
Or/ @[ ~

Give a brief discussion on the
performance of the functions of
interactive stage of operation of teaching. 10
PR AR R B3 ST SR
FROTRY 0T 5 A SHREwRT |

(b) What is behavioural technology? Discuss .
the nature and scope of behavmura.l

technology. - : - 4+6=10
e AR [ 7 S ﬁﬂ%#$ma
a%f*vm$<ﬂ%ﬂ?«ﬁﬁﬁﬂ@%@Wﬁﬂﬁﬁtn

A7/608 - ¢ Turn Over )



(8)

Or/w o

Explain the different aspects of
instructional technology. 10

ﬁiﬁﬁ‘“" RS fermzs amam =R
4q1 |
(c) Write about the role played by
communication in the teaching—leaming
process;, 10
ﬁmm-ﬁaﬂ s s W PR
SRR e T T |
Or / o311

Give an explanation of the different
teachmg aids which are used in
teaching-learning process. 10

ficerr-fer afere IR @R [da fsa
igferrRa e e fean |

(d) ‘Discuss the procedural steps of systems

approach in,_educational technology. 10
P AfSRaR TmfeTe SR gadie
FER R a1 41 |

, Or / &I '

. Write the uses and educative valﬁe of
computer in education. 10
e FPeERT 7T F 1 ’I""ﬁ Ry
ferar - o

* ok ok
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© + ; 3 (Sem—6) EDN 2

2017
EDUCATION
( General )

Paper : 6.2
( Environment and Population Education )

Full Marks : 80 SR W
Tlme 3 hours ‘
The figures in the margin mdwate full marks
for the questions
Answer either in English or in Assamesé
1. Answer the following questions : 1x10=10
Wﬁmmwﬁm ' ‘
STV BV “( A IV A
(a) On which date is the World Conservatlon
Day.celebtated? .. ., &
g T figst o tﬂﬁm %'iﬂm Lol T& ?

(b) From which language ‘the Enghsh word
enwronment’ has come?

?{W@' ‘environment’ “FWZBT @FI AR A

o RR? : »
AT Yy O s ad sedvl
(c) What is environmental- pollutlon?. |
AR e R 2
( Turn:Oper:)

A7/609 -




(3)
(d) Write one example of man-made
environment. 2. Answer the-followifig. questions briefly. : - 2x5=10
’Iﬁwqﬁmaﬁmqﬁmu Wmmwm
(e) What is family planning? (a) What is meant by sustainable
AT

R 7 development? - a1
- Lo L. PR mm% V‘ﬁ-’\ﬁm?\<

() Write one objective of Disaster

A7/609 \ - ( TurniOwer.)

Management Education. ’ (b) Enumerate the dlﬁ'erent sources of air
vl e R <ot S for - - pollution. " "+ A
' . T o ﬁﬁ-ﬁ ﬁsesm[a sr"ﬂ# ﬁm I
(9) On which date is the World Population L "
Day observed? © M thod f 1‘3; B tal
IRty (o ention two methods o nvironmen
Ry wpram fieet o SR TN ? ! Education at primary level.
' e siise fRe e o1 = SeE 3 1
(k) Mention any one characteristic of quality S ™ '
~ of life. L
T BIR ﬁ‘ e ‘ﬂﬁ M Temy T4 (d) Mention two environmental awareness
programmes.
(i What is the populat:on of Assam as per ! EB‘ w9
the Census. of 2011? - : - v
' . 14 ST PR
{03 T (IR NS ST SR R 2 (e) Mention ' two xpr@blems of. population
, | . grow.th S - .
() What is the full form of CEE? | SR qf%ﬁ 1 e 70
CEE-3 3> 9101 % 2 |
. . |
|
A7/609 ( Continued ) }




(%)

"-8.SAnswer any four of the followingw questions: .
Bt 5x4=20

Wﬁmﬁ@msﬁﬁmwm

e B
i 1

(a) Discuss the relatlonshlp betwepn man
and environment.

WWWMWWI |

IR o .

(b) Explam how sﬁsfamabie development
contnbutes m educatlon

PR -i\ -, - ’ v RS
FreR CPae YRTERY OWN RCIET SRR
SIS, I 0
ISR EEEY SE20 o FNEIDCHNI jars L T b

.
\
PR : Cor T

(c) Discuss the basic principle of curriculum

construction for environmental
education. .
R e mm (G| byl ﬁt@ﬂ{z Slcin|
H1

T ) ,?ia-:;’

(d) Mention some of the 1mportant features
~%: of Tdian popalatich. v+3 o

SIS FPRIN (TN chf Zaﬁﬁr ‘Wm
T Y

-AT$609 - , ( Coritinued. )

(5)

(e)* Define en"vironmentaleduca’ﬁon Mention

s+ its objectives:i. . ..o v
v ﬁﬁmﬁwmﬁmw%ﬁm
R RRE e R
B E

(f) Write five objectives of population
Ciledueatiod: s 0 - - cepoie B

quﬁwonsh e Bty

4. Answer any four of the following questions :

a0t L omige Lo ot 10%4=40
SR mﬁi‘t o mﬁm N
! R AR
(a) What is environment? Explam the
charactenstlcs of envu'onmen‘t - 3+7=10
AR ﬁs ? ﬁﬁ‘@"ﬁ Nﬁ?ﬂ{ia‘fm S

(b) Write about the effects of air pollution on
human health. How can air polluuon be

© T cdhtrolled?” (M 1T 545210
S NILELR W . e [T

" T TER @RS I AR, m,ﬁm o |
e R B W Ry

e T e BOTS

A7/609 .. . ( TurtdOver-)



(c)

(6)

"What: -is:" ' environmental - awar€ness?

_ Discuss the necessity of environment

@

‘A7 /609

IR

ﬂﬁmmwﬁvwamﬁmm
AT F4 |

AWareness... .- . .. S+5=10

. :'; 'l-'d . - g . . ) '\
Discuss in detail abouyt man-made
enwronmenta.l stressors ; 10

TR ﬁﬁa% ﬁwm Recw
Regeera s 31 |

Sl I( ' Yo W il .
Indmate ‘some envuonmental problems
due to populahomgrowth -Point out some
measures for controllmg popula on
growth. 5+5=10

Wmﬂﬁwwmm
qu_mmqﬁﬁm«mﬁ@rﬁ
R SRR |

What is populatlon problem? Analyse the
relationship between quahty of life and
population. T 4+6=10

SPRYR T R ? SR QT F EPRYA
e 7T Rews 3411

( Continued )

(9

(7)

Discuss the role of teachers in creating
awareness on population problem. 10
GPRIR STPIR FCoTol qﬁa cwae el
SR ST 01

(h) Discuss the scope of population

education in school. . 10
Rrerre s MR« Scewa 390 1
* & %
A7—12*/609 3 (Sem-6) EDN 2



3 (Sem-6) NEP L 1
2017

ELECTIVE NEPALI
Paper : 6.1

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. W R : = 1x10=10
(F) TeF H-HE FA A
(@) e T T R
(M) FAER A TH aEH AW AR
(=) e wa R Aeged
(2) W B T % e
(@) W B T
(B) 39T F AR A7

(V) “ORwren wee’ wE 3REAT

() I % ST
(@) ‘TR-whEE w ¥R A

A7/739 ( Turn Over )



(.2) | - o (3))

2. Dot W RIA 2¥4x4=10 : C(9) S W F Q7 Ty ==t )

(%) e ForE whes? - ‘ (3) % & Q7 Ty Sawd Te)
(@) s deE whs? o ' @ W F Y W R TR g TOeH
(M) YRR HeT Tl e aftar Seger L. FROERd W degedl
(@) weREEH T e TR RRGE) ' (®) g%@?wmmw
. | |
3. & S| e (F2 IR 5x4=20 .
*ok ok

(%) T=-TR6 TH F A7 Awm-uRe B TERH
T T W g fgmessl Aoty
forem i) '

(@) e P wfes? SRRl sme THeR|

(M I 3 vd-H g we-wEeE  H-FE
WH B7 TN AEe| .

(7) RaghE 3 we-weE w g8

@) T @ T owEEd R e
=i TN

4. T 9R TR IW Ry : ‘ 10%4=40
(F) 7= TG FE-AT T FAA I T
(@) ST Fes WRD? TrRUEiRa WE Ige
(M) w-wEeE T Rfw e e

Hamy ==l e

A7/739 ( Continued ) , A7—500/739 ' 3 (Sem-6) NEP L 1




3 (Sem—6) NEP L 2
2017

ELECTIVE NEPALI
Paper : 6.2

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
: for the questions
1. WIS : 1x10=10
(%) wfts S wRe Jh SR S 8
(@) WP TR S wee o Rt

(1) et wuE engfe W geed T 3
qﬁmﬁ%ﬁwm@fﬁ?

(@) w—ﬁmmﬁaﬁm&aﬁﬁmﬁiﬁ?

(3) Yurcht Fam YRE weE JETRE FA
TS e R T adl

(|) reht W FA II-aRER- 3G o T
() A< T T TREH HiY AHST
(31) w0 FF FA i A=wla wio?
(@) R et m—d, T
(1) e Yead wia SERE Y
A7/740 ( Turn Over )



(2)

2. TAMWI SWIS : 2x5=10

(%) Jureh forw wf woRe gL F-B F
(@) ey deaer 99 W RS Ton R
(M) STEEE PN gE T AW AE|

(=) mmmmmm
wOEE WA X S F UNER AR
Hfaam Reaew 17

(F) TRn G T g W W )

3. F 9R TEH WIS : 5x4=20
(%) v g I waf F-% g0 '

@) g el wRE e R 3

(1) wEhehT YT g TeEmRE TR SR R

(7) 9= T ew-A e 97

@) mmaﬁaﬂsﬁmwm

(¥) SaERE 9 TR T W

4. T W TEH W IS : o 10x4=40

(m)mtﬁwﬁs-aﬁqﬂawﬁ%ug@m
. WHRATY == K|

(@) SR-gdf W Jureht FRA S g
IS IEFER FARA W

A7/740 ( Continued )

(3)

(M) JuEh  T=-ggd Wlﬁ. wdm  ffwm
e wama w1 WH S7 SAw R

() Y W F A7 R Tog gl Gfdm
RO egd R

(®) mﬁaﬁqﬁﬁw&mwml
) mmm%-%@?ﬁwm

Sicq
®) TEE aRE P oo wieranar foeft -
Wegd | '
(W) qoiaest aRE SRR cheeegt sl
mmﬂamﬁtmml‘ :
*kok
A7—500/740 ‘ 3 (Sem-6) NEP L 2



3 (Sem-6) ENG L1

2017

ELECTIVE ENGLISH

Paper : 6. 1
( Nature )
Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
SECTION—I .

1. Answer the following as directed (any three) :
1x3=3
(@) What does landscaping mean?
(b) In poems, plays, novels and essays,

womanhood has been constantly
associated with

(Fill in the blank)

(c) Picturesque as an aesthetic ideal was

introduced by ____ in his book,

Observation on the River Wye, and
several parts of South Wales, etc.

(Fﬂl in the blank)

(d) Name the author of the book, The
Environmental Imagination.

A7/733 ( Turn Over )



2. (a)

) .

(c)

3. (@

(b)

()

4. (a)

(b)

A7/733

(2)

Mention' the name of two works with
their authors that dwell on. the link

‘between women and nature. 2
Or

Write the names of two subgenrés of

Pastoral literature. 2
Or

Write the names of two works with their

authors that have used the picturesque

mode. : 2

Write a short note on Nature in relation

to Romanticism. 5
. Or ’ )

Write a short note on the idea of

Pastoral. ‘ 5
Or

Write a short note on ecofeminism.

Attempt a brief ‘essay on the idea of

landscaping and its impact on _

literature. 10
Or

Discugs the relation between nature

and reason. 10

( Continued )

a

(3)

SECTION—II

5. Answer the following as directed : 1x7=7
(a) When did Darwin publish his book,

(b)
(©

(@

(e

On the Origin of Species?
Who was the Earl of Burlington?

Tennyson’s long poem, In Memoriam is
an (ode/elegy).
(Choose the correct option)

Which work of Henry David Thoreau is
also known as Walden?

Who was Wordsworth’s companion
during his second visit to the Wye
Valley? -

() Write the name of Dickinson’s poem
that speaks of the poet’s encounter with
a worm-eating bird. :
(99 When was the poem, Fern Hill first
published? ’
‘6. Answer the following questions : 2x4=8
(a) Write the names of the two poems by
William Blake.
(b) What does the expression ‘perfumed
garments’ mean in the poem, Spring?
A7/733 ( Turn Qver )




(4)

(5)

Discuss Emily Dickinson as a poet in

(o) . “Someone was before me at my (b)
Water-trough » _ the light of the poems prescribed for
(i) Who is the ‘someone’ referred to you.
here? (c) “Walden epitomises the importance of
(i) Why does the ‘someone’ come to the solitude, contemplation and closeness
speaker’s water-trough? ' to nature.” Elucidate.
(d) Which creature of nature does Emily (d) G‘iveban account of Pope’s description of .
Dickinson portray in the poem, Tlmc?n’s villa in the poem, Epistle to
A Narrow Fellow in the Grass? Burlington. . .
(e) “Ted Hughes opined that Jaguar can be
7. Answer any three of the following : 5x3=15 ﬁ:‘i:ed from different perspectives.”
) ‘ € a comparativ
(a) Mention the activities of the bird as 1 : pa ¢ study of the
bserved by the poet Emily Dickin i Jaguars in the poems, The Jaguar and
observed by the poe y son. | Second Glance at a Jaguar.
(b) Write a note.on G. M. Hopkins as a poet, ‘ i stcuss ‘Lawrence’s attitude towar ds the
{0 Why does Blake describe the Autumn snake as expressed in the poem of that
season as ‘newborn’? : title.
(d) Discuss briefly Darwin’s idea of struggle } * & &
. " for existence.
(e) Write 'a short note on William
Wordsworth as a Nature poet.
() How does Tennyson pit Nature against

God in Séction 55 of In Memoriam?

8. Answer any three of the following : 10x3=30

(@) Write a critical appreciation of G. M.
Hopkins’ Spring.

A7/733 ( Continyeq )
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3 (Sem—6) ENG L 2

2017

ELECTIVE ENGLISH
Paper : 6.2

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer as directed of the following : 1x10=10

(a) Triton is a cook in Reef.
(Write True or False)

(b) Rilke is the author of Morning in the
Burned House. ’
' (Write True or False)

(c) Gregor spends his life in open space
‘in The Metamorphosis.
(Write True or False)

(d) Anton Chekhov wrote stories as well
as plays. .

(Write True or False)

() In which language did Rainer Maria
Rilke write? :

A7/734 ( Turn Over )



(g)

L

@

)

2. Answer the following :

(a)

(b)
(c

(d)

(e)

A7/734

(2)

Margaret Atwood writes poems alone;
she does not write in any other genre.

 (Write True or False)

The Cherry Orchard is a long narrative
poem. -

(Write True or False)

Reef is a Sri Lankan novel in English.
(Write True or False)

Archaic Torso of Apollo is about the
face of Apollo. '

_ V (Write True or. False)
Franz Kafka was a native of Which
country?

2x5=10

Where do you find the line : “Thus, if
you came, I could be satisfied”?

What is Salgado’s profession in Reef?

Where do you find the line : “grate and
sooty kettle”?

What does Demoke do 'in A Dance of
the Forests?

YVhat does Gregor 'Sa.qmsa become
in The Metamorphosis?

( Continued )

Y N

(3)

3. Write. short notes on any four of the.

following :

5x4=20

(@) Light and shade in Along the Sun-

(b).

©

(d)
(e)

4. Answer any four of the following :

(a)

(b)

(c)

A7/734

Drenched Roadside

Death as a theme in A Dance of the
Forests

Domesticity in Morning in the Burned
House '

Friendship in Reef

Strained relationships in The Cherry

Orchard

- 10x4=40

“Soyinka’s A Dance of the Forests links
the hopeless past with the fruitless
present to project a bleak future.” Do
you agree to this comment .on Soyinka’s
play? Present your views on.the matter. .

Comment on the nature of society
depicted in Reef.

How does Rilke evoke the value of
Classical Greek culture in Archaic
Torso of Apollo? Give a well-reasoned
answer. "

( Turn Over )

AN



(4)

(d) Examine The Metamorphosis as a
" parable on the modern quest for
self-knowledge.

(e) 'Evaluate the significance of memory
in Morning in the Bumed House.

Substantiate your response with
relevant illustrations from the text.

* K Kk

A7—1500/734 _ 3 (Sem-6) ENG L 2
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2017

ELECTIVE ASSAMESE

Paper : 6.1

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks

Jor the questions

S W@F{Wﬁgﬂ ) yxdo=)o

)
()

()
@

(€)

B oy M ARFTCR A 2
C3IRT CTR?

CORR “ioae o7 ReT TR AHT BT
A ?

mﬂwmwmmwﬁﬁ?

TR T <fe SRR Y TER T
mRr

oa—— b

- o MRk 2.

(%)

A7/735

@WE TR A I XA
MRS FeeE A & onfke 7

( Turm Over)



(2) I ’ | (3)

(=) mw—qm@ﬁmﬁwex@ﬁm L (1) TN A Y e S R 2

e 2 FCARCA AT AIRCR, WAl ¥4 |
: ) ‘@PE IFE ATHIARS’T HYEAS SIS
(%) WiXew ol W P e Wiy ‘()_wmmﬁmmmww
o | . oRs |
LQIECRE 5 ? X
@) R ZAem (}) RS SFITS TR Rt wivqe =, B |
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To do well in studies, first of all, we must be
well prepared, motivated and firmly
determined to study hard sincerly, to achieve
our academic goals. Paying close attention in
the classroom and utilising our time in
school is important. Moreover, we should
regularly revise our course and clear our
doubts as soon as possible. Proper nutrition
and adequate sleep during the time of
examination are must. Self-study and
concentration are essential for -effective

learning.
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'PSYCHOLOGY.
( General )

( Applied Psychology )

Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oS AT, Tt i} Tee i
(a) Job analysis is the method of obtaining

the information that makes up job.
(Write True or False)

?® ™ oAz T @R w
Ffe-Reerse
’ (311 =1 Sprey fera)

(b) In.terms of industry, selection means

(Fill in the blank)
TR RS, iR WY CxR |
(14 31 =5 1)
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(0
(d)

(e)

9

i

A7/618

(2)

-Write one cause of individual difference.

S NPT @61 F]9 T |

What do you mean by advertisement?
R e & @2

The main objective of industrial
psychology is . ‘
(Fill in the blank)

STHNF NAIE A4 STl (- ____ |
(IR 37 <3 F)

Write one component of job.

3R @51 B T o

Write one aspect of stress.

Waﬁﬁ*ﬁmﬁml

Define guidance.
Aot e faan |

Counselling services are required
for '

(Fill in the blank)

YR G|l ST
' (X1 3% 7 390)

( Continued )

0

(3)

In group counselling situation, the role
of a counsellor is

(Fill in the blank)

v o RS rmfeR gie tzr
|
(A1 37 =7 3]0)
2. Answer in 2-3 lines : 2x5=10
3-0 =1 T i :
(@) What is applied psychology?’
AT TenRke &2
(b) What do you understand by individual’s
difference? -
I <l 3 Ry Reas s =2
(¢ Why is personmel selection essential?

d

(e)

A7/618

TR Ao R excarea 2

What are the main objectives of job
analysis? ' . :

s Rewrem 2y Sz [ 2

Write the importance of advertisement.

RSB AR 7T |

{ Turm Over)



(4) o (5)

-

3. Answer any four of the following questions : 4. Answer any four of the following questions :
5x4=20 . 10x4=40

@R 2PIRRT *R/1 R @i viRGR e frar | ToR 2T [T R e wiikerR ey i -

(@) What is the signiﬁca.née of industrial (a) Discuss the significance of individual
psychology in the present society? differences in industry.
WWWWW ST TS TS NAFR Bl ST F |
iRl & 3 or1? : :

(b) What are the types of counselling? ' (®) DIS-C uss | the various types of job

. 9 . satisfaction surveys.
& SR ~RACABAN AFTPTIR ST 1 |

(c) Explain. in brief about the importance
of job satisfaction. . ' () What are the different methods of

" 3R BT @TY ST TR0 M| gathering job information for job
. analysis?

(d What are the factors causing stress - P Romas IR T T W F]

among people? . . : IafeTR 2 ‘
IR TS B FRPAR 2 ' \
(d) Describe the procedure and significance

() What are the objectives = of ) of job analysis.
advertisement? '

g | q@ﬁm«%ﬁmmﬂz@aml

() Explain the causes of indi vidual S (e) Dlscus.s the pksychologlcal effects of
difference. < advertisement.

IR Mg FRPFR I TN 1 RN ARG 2SR SICE 341 |

A7/618 : ( Continued ) A7/618 ( Turn Over)



(6)

() Describe - the contribution of the
psychology of attention in
advertisement. '

Rearme AP TReER | Rey
1 91 | S

(g) “Stress affects the psychological and
physical health of individuals.” Discuss.

‘B AR T W GRS e
AT CFE 1”” AT 47 |

(h) What does counselling mean? Discuss
about the counselling as helping in .
maintajning the relationship.

ST e 7 @ 2 R TR RS
Rv1eet SgaDa ¥4 |
%* % %
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2017

HOME SCIENCE
( General )

( Theory) -

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. State True or False agamst each of the
following statements : 1x5=5

'wﬁm%’@l{q%ﬁamm

(a) An entrepreneur should always be
highly ambitious.

&= T e T SRl 2T w1

(b)) Fungi causes fermentation of
carbohydrates

Wﬁﬂﬂﬁhﬁl

(¢ Mik can be preserved by canning
method.

@WWWWWWI
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(2)

(d) Blue-green is a tertiary colour.
Sen-cie&E 2'a 9Ry a1 w1

(e} Preschool . education is a formal
education.

-2 Free a1 S Pree 1

Fill in the blanks :
N4 3R AR

1x5=5

(a) acid is used to prepare jam-jelly.
T-CRA oFoFITS ___ fos IRZT 30

EXl

(b) Yeast is a ____ microorganism.

VAR ___ &
(c

is a Japanese flower arrangement.

5 Ry AR T |

(d) Floor of a room can be treated with
marble and '

T S i GO e e A o

(e)

is an element of art.
— XA TR fo B |

( Continued )

3. Write in brief :

(3)

2%x4=10 |

s foran -

(@)
(b)
(c)

(@

4. Write short notes on (any foﬁr) :

o Goret ot (R e o)

(@)

(b)

(0

(d)

(e)

A7/620

Two quaJities of an entrepreneur
oo wor 89

Food-borne diseases

LRGSR e Hat o .
Environment of a preschool
ArRR-eNfe Ruerr iR

Motifs

Tiow

5x4=20

Food | poisoning K by
contamination

grog YT 9@ AWK REreeyq
Care of wooden furniture
FIOT BRI T

metallic

Designing garment of a preschool child
-2 *RER B A7 oo e
Any two colour schemes used in a room
TS T T R A 7Ry v oivf
Wardrobe planning

IR TP oY

( Turn Over)
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(4)

What are the objectives of food preservation?
Write about the micréorganisms that causes
food spoilage. 3+7=10

I TR TR &2 waﬁwwﬁm{a
ﬁmﬁml :

Or/ W‘Wf

What are the objectives of preschool
education? Describe any one method of

preschool education. 5+5=10
aR-2aAfiE FreR Sz R R e «Ry

aR-AE R 1w Reay 3t wr1

. What do you mean by design of a garment?

Explain with diagram how the principles of

art are applied in a garment. 2+8=10
CoBIFY 1 e 6 & 27 9B1 CANOTPS (T oI
Mz zms't =, ﬁm 6 T |

Or / 911

What do you mean by printing on fabric?
Expla.m about the methods of handpnntmg

2+8=10

FARS El"m zrenﬁt snrorﬁs {en? Qo QAL
AT I 1 |

( Continued )

7.

8.

A7—1500/620

(5)

What is flower arrangement? How is it
classified? Write about the care to be
taken in flower” arrangement 2+4+4=10
o W 7 WE @ afiRe w9

== ? T»mw cw—a’amnmﬁmﬁm

Oor/ WW
Write about different types of floor treatment

and its care. 5+5=10

R Rita 7= o R 71 Raca fon |

What are the factors to be considered while
selecting furniture for'a home? 10
9G¥ 999 IR IRKR IvA FEe B B I
Reao {7 siest 2

Or /911
What is cost estimation for furnishing a room?

What are the factors to be considered while
doing cost estimation for furnishing a room?

2+8=10
<1 R TR T FERT WA B R TR
T RS 39 PR IR R R 2
* % %
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GEOGRAPHY
( General )

{ E;!onomic, Political and ‘
Environmental Geography )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
Answer either in English or in Assamese

1. Choose the correct answer 6f the following
questions : 1x10=10

S s TPTR ©% Tawchr AIfe Sfereat :
(a) Collection of raw gold from gold field is

an .example of
CIR T [T G =’ wz%r X |
- (i) primary occupation/214fF 3
. {ii) secondary occupation /&8 *Rfgg3fe
(i) tertiary occupation/ToW *RfiTE I
(iv) quaternary occupation/v9% *REI Ife

A7/619 { Turn Over )
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(2)

Deepor Beel has been declared as
g Rere camen 1 &=
(i} Lake Sanctuary
2% T 1
(i) Bird Sanctuary
1 T 2o
(iij) National Park
B T Rt

(iv) Wildlife Sanctuary
B wrsuRen B

Which of the following pountries ranks
first in the production of iron ore?

OO (@I O (FTIN SRFA SIS AW FTO
0z ?
(i) Brazil
e
(i) USA
AR S8
(i) France '
™

(iv) Russia

BlEL

( Continued )

(@)

(e)

A7/619

(3)

Which of the following geographers

postulated the ‘Organic theory of State’?
O (ISR OIFRCT ‘Organic theory of
State’ SSGRRE ? ' ‘
(i Carl Ritter
1 Row

(i) Karl Haushofer

. I THER
(tii) Friedrich Ratzel

ek aitesE

(iv) Aristotle
<85

Which of the following zones is not
recognized as biodiversity hot spot?

T (FCOT e &IT-CIDAR 2 =0 T 2
(i) Himalayan region
Ry e
(i) Indian subcontinental region

SomRry ooty Swe

(iii) Andaman Nicobar Islands

S AR Bey

(iv) Thar Desert
TR

{ Turn Over )
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(4)

Which of the following international
boundary lines is known as Radchffe
Line?

T RO vnaw@ﬂ W J©FT @9
Rowee & w2

(i) Indo-Pak Border

(i) Indo-Afghan Border
SRe-SrEaAEw S

(i) Indo-Bangladesh Border
SRS-IEAC ST

(iv) Indo-Bhutan Border
SRe-PoF
The semiarid region ‘Sahel’is located in
SY-TPpReR S TR 1 T
(i) North America '
ey wefRe
(i) South America
e SRl
(it Australia
gt
(iv) Africa
s

{ Continued )

(h)

(S)

Which of the following countries ranks
first in the production of sugarcane?

TR QEE (71 FRAN TS A B

R ?
() India

SRicai

(i) Brazil
A

“(iij) Cuba
R

_ (i) Pakistan

@i

A7/619

N

Terrace cultivation is a type of
et 9 T aRy
(i) subsistence agriculture
ST IR

(i) commercial farming

e R

(iii) extensive farming
Rgo 3R

(iv) intensive farming

o TR

( Turn Over)
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(i) Dogger bank is a/an
TR F T4
(i) banking system
QR =fS
(@) animal rearing centre
. oReeIeH (7
(iii) fishing ground
YT S
(w) agricultural region
PR o=
2. Answer the following questions in brief :
2x5=10
SOl 2PPTRY 59 Ted freal

(a) Name two groups of people associated
with gathering occupation.

vﬁaﬁasqﬁﬁﬂwmﬁﬁﬁbsE?rﬁwmmﬁa=ﬂaﬁz§w
N1

(b) Mention two differences - between
renewable and nonrenewable resources.

qaéavm¢<ﬂﬂﬂ‘a’F"ﬁ?’mﬁsiﬁ‘””ﬁﬂﬁzaq
1

(c) What do you mean by biodiversity?
Sig-Cafoap e & a2
A7/619 ' ( Continued )

(7)

(d) Mention two good effects of flood.
TN 1 ST Fe Sewd 391 |
{e) What is buffer zone?

TR e 7

3. Answer any four of the following questions :

) 5x4=20
TS fAr 2rpiy=s R core v e fia -
(@) Discuss the importance of econc'>rnic
geography.
*w#tﬁ?¢ﬁzmawQ$FQEWFW$HWRI1

(b) Present the classﬂicatmn of resources.

T R TR &)

c) Give an account of the commercial
pastoralism in the world.

4 AR sRyeiem-Rre S GRT o |

(d) Mention the distinctions between
extensive farming and intensive

farming.
ﬁ“?‘§ﬁ‘m$'m5r§ﬁaﬂwr-qarﬁw%wqg
TE

A7/619 , ( Turn Over )



(e) Discuss the

0

(8)

causes of - loss of
biodiversity in North-East India.
o3~ ORTS -GG ZPT CIRA FRPIR
HICAHAT 91 |

Highlight the Indo-Pak

problems.

. SRS-1F ST T SRS SCARPAS 7 |

Border

4. Answer any four of the following questions.:

10x4=40

wers fian TR R cre sifbre e fram -

(@) Explain the meaning and scope of

(b)

()

A7/619

economic geography. 3+7=10

G oo W S AR 0 4

of resource.
methods of

Define the concept
Explain the different
resource conservation.

oM qRAT W @1 M TIER [

FRSHYR M F91 |

What is meant by water resource?
Explain the importance of oceans as
water resource. 3+7=}0
worrem e & q@me AW R
TZPRERT BFF HKEAD F91 |

( Continued )

3+7=10

(@)

(9)

What .are the different types of coal?

- Give an account of the distribution of -

(e)

.coal in India with special reference
to Assam.

3+7=10

RfSH 2RI TPz R R 2 o Remwere
T IR oRes wen Rowr @b 3 Wik
T | ~ .

State the necessary geographical
conditions for tea plantation. Discuss
about the ' distribution of tea in the

. wor}d with special reference to India.

(9)

A7/619 .

4+6=10
R T sy St SRR
BEY 91 | SReTe Ty fiewd Remsia
Wﬁﬁ%%ﬁﬁwctmwn '

What do you mean by greenhouse gas?

.De.scribe the contribution of these gases

In increasing the global temperature.
3+7=10

CTER R st B W2 R S

T = corRRR wRee g

Mention the causes of earthquake. .
Discuss with a diagram the distribution

of earthquake in the world. | 5+5=10
SRTR IR Tewe 0 1 RS e
Re® Rcy foeprz wwceman 31 1

( Turn Over)



(10 )

(h) Define political geography.-Discuss the
schools of political geography. 3+7=10
AT TR RS WS @11 AT
SO S TPHAS SIRYRPTR ST 47 |

* %k X
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